RASPUNSURI

I. 1) 426,4; 2) 4,56 mm; 3) 7744 cm®; 4) 24% 5) 300; 6) 24.000; 26.000; 30.000
lei; 7) mem®; 8) —244/5 9) 15 cmy; 10) a) M=27; T=32; b) m=864; d=1; 11)i)
F; ii) A.

IL. 1) 10; 2) 12ml; 3) 234,6; 4) xe{0,1,2,3.4,5}: §) a 8-a =i; 6) 3 ori; 7) 1175
8) (10-m)/4=1,715 m™; 9) a=19; 10) a=5; b= -5; i) 0; ii) -50; 11) a) 1/2; b) 1/3;
¢) 1/5; d) 710; e} 1; £} 0; 12) b) AB=52; BC=25; CD=39; DA=60; AC=63;
BD=56 cm; ¢) P =176 cm; A=1764 cm” .

HI. 1) 7/25; 2) 3960 kg; 3){4}; 4) 17; 5) 21°36°; 50°24; 108% 6) 7128 lei;
7) 1,98 em?; 8) 0; 9) 12; 10) a) F, =4/5; F, =3/4; b) 2; ¢) 37,5 %; 11) 90; 91.

IV. 1) 1999; 2) 33,(3)%; 3) 3,16; 4)144+2cm; 5) 74; 6) 7: 7) (a-b)%; 9) 12 cm;
10) a) my, =9,6; b) 64 %; 11) i)a) impar; ii) nu existi; b) 14 si 15;
12) a) A=C=90% B=75% D=105" b) AB=AD=8: BC=4./6:CD =4 2cm:
c) F=4[4+«E+JE cm A=16(2++/3) cm®.

¥. 1) 2h 17min 36sec; 3) 7/17: 4) a; 5) 1; 7) -74; 8) 55°; 9) la prima;
10) i) a=23/8Q\Z; i) a=-1Z\N; iii) a=2145(,5+1)/4e RQ 11)-56; 12)
a) BE=15; EC=30; DF=60; FC=40 cm; b) A.gp =1350; Acgr =600; Aggrp =750
em”; €) hagrp =12; happ =36; hepr =24 cm.

V1. 1) 1; 2) 28; 3) 175,2 cm; 4) 500 m; 6) 325.000 si 65.000 lei; 7) 6x+4; 8) 4;
9) 14 sau 16 ¢cm; 10) i) a=10; b=10; 11) n={28;42:84}; 12) a} 10 cm; b) h=MN;
¢) 100 cm?,

VIL. 1) 2748 m; 2) x=4; 3) 1296: 4) 54°32797: 5) 54% 54°% 72%6) 281.600 km®;
7) 20%; 8) 230769; 9) (a -b)/2; 10) 9/4; 11) 719; 1439; 2159; 2879; 12) i) 45°
ii) 4 cm; 2 cm.
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